
NEW TO RANGE 
2023-01   (BY APPLICATION)

 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

08/07-08/13MDXACURA

3600035 TRACK CONTROL ARM BUSH
salıncak burcu,ön sağ, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT,RH

FOR 6709002;PAIR:360003451350STXA07 S2
51350SZAA07 S2
51360STXA07 S2

3600034 TRACK CONTROL ARM BUSH
salıncak burcu, ön sol, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT,LH

FOR 6709003;PAIR:360003551350STXA07 S1
51350SZAA07 S1
51360STXA07 S1

3600033 TRACK CONTROL ARM BUSH
salıncak burcu, ön sağ-sol, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES,FRONT

FOR 6709002/351350STXA07 S3
51350SZAA07 S3
51360STXA07 S3

01/14-MDXACURA

3609111 WISHBONE
salıncak, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 360911251360TZ5A01

3609112 WISHBONE
salıncak, ön, alt sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 360911151350TZ5A01

08/06-08/12RDX YD2 (2nd Gen.)ACURA

6709010 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:670901151350STKA03

6709011 WISHBONE
salıncak, ön sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:670901051360STKA03

2023-01   (BY APPLICATION) 1 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

08/13-08/17RDX  2dn GenerationACURA

6709008 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:670900951350TX4A01

6709009 WISHBONE
salıncak, ön sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:670900851360TX4A01

08/01-08/05RSX (2nd Gen.)ACURA

3609127 TRACK CONTROL ARM
denge kolu, arka sağ-sol, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR
Year only 2001-2004

52390S5A981
52390S6MA00
52390S5AA01

02/15-TLXACURA

3602075 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

FRONT,LH
M14x1,5

Pair: 360207653560T2AA01

3602076 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

FRONT,RH
M14x1,5

Pair: 360207553540T2AA01

3603039 BALL JOINT
rotil, ön, alt
шаровая опора, усиленная

Rótula de suspensión/carga

Rotule de suspension

FRONT LOWER

51220T2A305 S1

08/10-08/13ZDXACURA

3600035 TRACK CONTROL ARM BUSH
salıncak burcu,ön sağ, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT,RH

FOR 6709002;PAIR:360003451350STXA07 S2
51350SZAA07 S2
51360STXA07 S2

3600034 TRACK CONTROL ARM BUSH
salıncak burcu, ön sol, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT,LH

FOR 6709003;PAIR:360003551350STXA07 S1
51350SZAA07 S1
51360STXA07 S1

2023-01   (BY APPLICATION) 2 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

3600033 TRACK CONTROL ARM BUSH
salıncak burcu, ön sağ-sol, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES,FRONT

FOR 6709002/351350STXA07 S3
51350SZAA07 S3
51360STXA07 S3

09/12 - 01/16B7 (F01, F02)ALPINA

1205132 TRACK CONTROL ARM
rotilli kol, sol
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
xDrive

Pair: 12051332 450 835
31 12 2 450 835
31124083309

08/14-TT (FV3)AUDI

1100089 TRACK CONTROL ARM BUSH
salıncak burcu, ön sağ-sol
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES,FRONT

FOR 1109025;1109028/98S0407151D S1
8S0407183B

01/12-1 SERIES (F20, F21) xDriveBMW

1200114 TRACK CONTROL ARM BUSH
rotilli kol burcu, ön alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
LOWER , Hydro

FOR 1205128/9;1205192/331126854723 S1
31126854724 S1

08/13-2 SERIES Coupe (F22, F87)BMW

1200114 TRACK CONTROL ARM BUSH
rotilli kol burcu, ön alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
LOWER , Hydro

FOR 1205128/9;1205192/331126854723 S1
31126854724 S1

1205176 TRACK CONTROL ARM
rotilli kol, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 120517731122284529

1205177 TRACK CONTROL ARM
rotilli kol, ön, alt sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 120517631122284530

2023-01   (BY APPLICATION) 3 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

08/14-2 SERIES Cabrio (F23)BMW

1200114 TRACK CONTROL ARM BUSH
rotilli kol burcu, ön alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
LOWER , Hydro

FOR 1205128/9;1205192/331126854723 S1
31126854724 S1

06/05 -3 SERIES (E90, E91)BMW

1205175 TRACK CONTROL ARM
rotilli kol, ön sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
FRONT

Pair: 120517431102283578

1205174 TRACK CONTROL ARM
rotilli kol, ön sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
FRONT

Pair: 120517531102283577

09/06 -3 SERIES (E92, E93)BMW

1205174 TRACK CONTROL ARM
rotilli kol, ön sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
FRONT

Pair: 120517531102283577

1205175 TRACK CONTROL ARM
rotilli kol, ön sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
FRONT

Pair: 120517431102283578

10/11 -3 SERIES (F30)BMW

1200114 TRACK CONTROL ARM BUSH
rotilli kol burcu, ön alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
LOWER , Hydro

FOR 1205128/9;1205192/331126854723 S1
31126854724 S1

1205176 TRACK CONTROL ARM
rotilli kol, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 120517731122284529

1205177 TRACK CONTROL ARM
rotilli kol, ön, alt sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 120517631122284530

2023-01   (BY APPLICATION) 4 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

11/18-3 SERIES (G20)BMW

1202064 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M14x1.5

PAIR:120206532106880698

1202065 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M14x1.5

PAIR:120206432106880696 S1
32106880697 S1

1277071 AXIAL JOINT COMPLETE
komple rotmili, ön sağ
рулевая тяга в сборе

Barra de acoplamiento

Biellette de direction, comple

RH

PAIR:127707232106880696

08/13-4 SERIES  Cabrio (F33, F83)BMW

1200114 TRACK CONTROL ARM BUSH
rotilli kol burcu, ön alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
LOWER , Hydro

FOR 1205128/9;1205192/331126854723 S1
31126854724 S1

08/13-4 SERIES  Coupe (F32, F82)BMW

1200114 TRACK CONTROL ARM BUSH
rotilli kol burcu, ön alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
LOWER , Hydro

FOR 1205128/9;1205192/331126854723 S1
31126854724 S1

1205176 TRACK CONTROL ARM
rotilli kol, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 120517731122284529

1205177 TRACK CONTROL ARM
rotilli kol, ön, alt sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 120517631122284530

03/14 -4 SERIES  Gran Coupe (F36)BMW

1200114 TRACK CONTROL ARM BUSH
rotilli kol burcu, ön alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
LOWER , Hydro

FOR 1205128/9;1205192/331126854723 S1
31126854724 S1

2023-01   (BY APPLICATION) 5 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

10/08 -5 SERIES  Gran Turismo (F07)BMW

1205136 TRACK CONTROL ARM
rotilli kol, sol
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
xDrive

Pair: 120513731 12 4 081 431
31 12 6 777 729
4 081 431

1205137 TRACK CONTROL ARM
rotilli kol, sağ
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
xDrive

Pair: 120513631124081432
31126777730
4 081 432

1200120 TRACK CONTROL ARM BUSH
salıncak burcu, arka
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR
48.6x14.2x55 mm

FOR 1205100/131126798107 S1
31126798108 S1

03/10 -5 SERIES (F10)BMW

1205132 TRACK CONTROL ARM
rotilli kol, sol
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
xDrive

Pair: 12051332 450 835
31 12 2 450 835
31124083309

1205133 TRACK CONTROL ARM
rotilli kol, sağ
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
xDrive

Pair: 12051322 450 839
31 12 2 450 839
31124083310

1200120 TRACK CONTROL ARM BUSH
salıncak burcu, arka
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR
48.6x14.2x55 mm

FOR 1205100/131126798107 S1
31126798108 S1

09/10 -5 SERIES  Touring (F11)BMW

1205132 TRACK CONTROL ARM
rotilli kol, sol
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
xDrive

Pair: 12051332 450 835
31 12 2 450 835
31124083309

1205133 TRACK CONTROL ARM
rotilli kol, sağ
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
xDrive

Pair: 12051322 450 839
31 12 2 450 839
31124083310

1200120 TRACK CONTROL ARM BUSH
salıncak burcu, arka
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR
48.6x14.2x55 mm

FOR 1205100/131126798107 S1
31126798108 S1

2023-01   (BY APPLICATION) 6 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

07/16-5  SERIES (G30, F90)BMW

1205167 TRACK CONTROL ARM
rotilli kol, ön sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
FRONT

Pair: 120516631106861166

07/175  SERIES (G31)BMW

1205167 TRACK CONTROL ARM
rotilli kol, ön sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
FRONT

Pair: 120516631106861166

03/11 -6 SERIES (F12)BMW

1205132 TRACK CONTROL ARM
rotilli kol, sol
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
xDrive

Pair: 12051332 450 835
31 12 2 450 835
31124083309

1205133 TRACK CONTROL ARM
rotilli kol, sağ
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
xDrive

Pair: 12051322 450 839
31 12 2 450 839
31124083310

1200120 TRACK CONTROL ARM BUSH
salıncak burcu, arka
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR
48.6x14.2x55 mm

FOR 1205100/131126798107 S1
31126798108 S1

11/10 -6 SERIES (F13, F06)BMW

1205132 TRACK CONTROL ARM
rotilli kol, sol
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
xDrive

Pair: 12051332 450 835
31 12 2 450 835
31124083309

1205133 TRACK CONTROL ARM
rotilli kol, sağ
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
xDrive

Pair: 12051322 450 839
31 12 2 450 839
31124083310

1200120 TRACK CONTROL ARM BUSH
salıncak burcu, arka
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR
48.6x14.2x55 mm

FOR 1205100/131126798107 S1
31126798108 S1

2023-01   (BY APPLICATION) 7 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

06/17 -6 Gran Turismo (G32)BMW

1205168 TRACK CONTROL ARM
rotilli kol, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 120516931106861169

06/08 -12/157 SERIES (F01, F02, F03, F04)BMW

1200120 TRACK CONTROL ARM BUSH
salıncak burcu, arka
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR
48.6x14.2x55 mm

FOR 1205100/131126798107 S1
31126798108 S1

1205136 TRACK CONTROL ARM
rotilli kol, sol
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
xDrive

Pair: 120513731 12 4 081 431
31 12 6 777 729
4 081 431

1205137 TRACK CONTROL ARM
rotilli kol, sağ
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
xDrive

Pair: 120513631124081432
31126777730
4 081 432

07/15-7 (G11, G12)BMW

1205168 TRACK CONTROL ARM
rotilli kol, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 120516931106861169

01/20-iX3  (G08)BMW

1205180 TRACK CONTROL ARM
rotilli kol, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 120518131106890904
31106890906

1205181 TRACK CONTROL ARM
rotilli kol, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 120518031106890903
31106890905

1208109 STABILIZER LINK
denge çubuğu, ön sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,RH
L=317 mm

PAIR:120811031356881092
31356886036 S1

2023-01   (BY APPLICATION) 8 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

1208110 STABILIZER LINK
denge çubuğu, ön sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,LH
L=317 mm

PAIR:120810931356881091
31356886035 S1

08/17-X3 (G01, F97)BMW

1202066 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M14x1.5

PAIR:120206732106871893

1202067 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M14x1.5

PAIR:120206632106871889

1205178 TRACK CONTROL ARM
rotilli kol, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 120517931106870971

1205179 TRACK CONTROL ARM
rotilli kol, ön, alt sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 120517831106870972

1205180 TRACK CONTROL ARM
rotilli kol, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 120518131106890904
31106890906

1205181 TRACK CONTROL ARM
rotilli kol, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 120518031106890903
31106890905

1208109 STABILIZER LINK
denge çubuğu, ön sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,RH
L=317 mm

PAIR:120811031356881092
31356886036 S1

1208110 STABILIZER LINK
denge çubuğu, ön sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,LH
L=317 mm

PAIR:120810931356881091
31356886035 S1

04/18 -X4 (G02, F98)BMW

1202066 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M14x1.5

PAIR:120206732106871893

2023-01   (BY APPLICATION) 9 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

1202067 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M14x1.5

PAIR:120206632106871889

1205178 TRACK CONTROL ARM
rotilli kol, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 120517931106870971

1205179 TRACK CONTROL ARM
rotilli kol, ön, alt sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 120517831106870972

1205180 TRACK CONTROL ARM
rotilli kol, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 120518131106890904
31106890906

1205181 TRACK CONTROL ARM
rotilli kol, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 120518031106890903
31106890905

1208109 STABILIZER LINK
denge çubuğu, ön sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,RH
L=317 mm

PAIR:120811031356881092
31356886036 S1

1208110 STABILIZER LINK
denge çubuğu, ön sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,LH
L=317 mm

PAIR:120810931356881091
31356886035 S1

08/13 - 08/17ATS (SA-1)CADILLAC

6009077 WISHBONE
salıncak, sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH

Pair: 600907884263004

6009078 WISHBONE
salıncak, sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH

Pair: 600907784263005

6005015 TRACK CONTROL ARM
rotilli kol, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
FRONT LOWER

Pair: 600501620768758
23462008

6005016 TRACK CONTROL ARM
rotilli kol, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
FRONT LOWER

Pair: 600501520758759
23462009

2023-01   (BY APPLICATION) 10 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

6005017 TRACK CONTROL ARM
rotilli kol, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
FRONT LOWER

Pair: 600501823462000

6005018 TRACK CONTROL ARM
rotilli kol, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
FRONT LOWER

Pair: 600501723462001

09/07 - 12/14ESCALADE GMT900CADILLAC

5603023 BALL JOINT
rotil, ön
шаровая опора

Rótula de suspensión/carga

Rotule de suspension

BOTH SIDES

84114505
84114506

08/06-08/15STSCADILLAC

1207055 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

M14x1.5;M14x2;L=108 mm

Moog type, Year only2005/08EV80958

01/05-01/10COBALTCHEVROLET

5600030 TRACK CONTROL ARM BUSH
burç, ön alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES
LOWER, FRONT

For 5609051/215787555 S1
15787556 S2

5600031 TRACK CONTROL ARM BUSH
burç, ön alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES
LOWER, FRONT

For 5609051/215787555 S2
15787556 S1

08/96 - 08/02EXPRESS (1500) 1st GenCHEVROLET

5600025 TRACK CONTROL ARM BUSH
burç, alt iç
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES
LOWER, INNER

FOR 5609076/715665554 S2
15665555 S2

5600026 TRACK CONTROL ARM BUSH
burç, ön sağ-sol, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES,FRONT
54,3x17x76,5 mm

FOR 5609076/715665554 S3
15665555 S3
54500D7000 S3

2023-01   (BY APPLICATION) 11 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

08/06-08/11HHRCHEVROLET

5600030 TRACK CONTROL ARM BUSH
burç, ön alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES
LOWER, FRONT

For 5609051/215787555 S1
15787556 S2

5600031 TRACK CONTROL ARM BUSH
burç, ön alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES
LOWER, FRONT

For 5609051/215787555 S2
15787556 S1

08/99-07/06SILVARADO 1500CHEVROLET

5600027 TRACK CONTROL ARM BUSH
burç alt, ön
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES
LOWER, FRONT

For 560911520924215 S1

08/14-08/18SILVERADO 1500CHEVROLET

5603023 BALL JOINT
rotil, ön
шаровая опора

Rótula de suspensión/carga

Rotule de suspension

BOTH SIDES

84114505
84114506

08/11-01/18SILVERADO 2500CHEVROLET

5600027 TRACK CONTROL ARM BUSH
burç alt, ön
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES
LOWER, FRONT

For 560911520924215 S1

02/16-SPARK IICHEVROLET

5600029 TRACK CONTROL ARM BUSH
burç, ön
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES

95368367 S1
95368368 S3

5600028 TRACK CONTROL ARM BUSH
burç, ön
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES

95368367 S2
95368368 S2

2023-01   (BY APPLICATION) 12 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

08/92-08/00TAHOECHEVROLET

5600025 TRACK CONTROL ARM BUSH
burç, alt iç
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES
LOWER, INNER

FOR 5609076/715665554 S2
15665555 S2

5600026 TRACK CONTROL ARM BUSH
burç, ön sağ-sol, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES,FRONT
54,3x17x76,5 mm

FOR 5609076/715665554 S3
15665555 S3
54500D7000 S3

09/04 - 12/10300 C (LX)  (1st Generation)CHRYSLER

6000017 TRACK CONTROL ARM BUSH
denge kolu burcu, ön
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
39.5x12.2x37.7

FOR 600905168045329AB S1

09/01-08/07TOWN & COUNTRY  (4th GeneraCHRYSLER

6007039 AXIAL JOINT
rotmili, ön, iç
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

M14x1.5;M14x1.5;L=302 mm

Mooh type, Year only 2001-20044743142AD
EV405

01/11-01/16300 C (2nd Generation)CHRYSLER

6000017 TRACK CONTROL ARM BUSH
denge kolu burcu, ön
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
39.5x12.2x37.7

FOR 600905168045329AB S1

11/09 -08/16C3 IICITROEN

1307037 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14x1,5;M14x1,5;L=245 mm

1623140880
38027224

2023-01   (BY APPLICATION) 13 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

11/09 -DS3CITROEN

1307037 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14x1,5;M14x1,5;L=245 mm

1623140880
38027224

08/16-JUMPY  IIICITROEN

1300032 TRACK CONTROL ARM BUSH
denge kol burcu, ön, sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES
58,3x16,2x59,8 mm

FOR 1309053/49809082680
SU001 A6491

1300033 TRACK CONTROL ARM BUSH
denge kol burcu, ön, sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES
70,3x19,3x59,7 mm

FOR 1309053/49816557980
SU001-A6515

04/16-SPACETOURER (V)CITROEN

1300032 TRACK CONTROL ARM BUSH
denge kol burcu, ön, sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES
58,3x16,2x59,8 mm

FOR 1309053/49809082680
SU001 A6491

1300033 TRACK CONTROL ARM BUSH
denge kol burcu, ön, sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES
70,3x19,3x59,7 mm

FOR 1309053/49816557980
SU001-A6515

08/01-09/08GRAND CARAVANDODGE

6007039 AXIAL JOINT
rotmili, ön, iç
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

M14x1.5;M14x1.5;L=302 mm

Mooh type, Year only 2001-20044743142AD
EV405

08/08 - 08/15CHALLENGER  4th GenerationDODGE

6000017 TRACK CONTROL ARM BUSH
denge kolu burcu, ön
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
39.5x12.2x37.7

FOR 600905168045329AB S1

2023-01   (BY APPLICATION) 14 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

08/06 - 08/10CHARGER  6th GenerationDODGE

6000017 TRACK CONTROL ARM BUSH
denge kolu burcu, ön
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
39.5x12.2x37.7

FOR 600905168045329AB S1

08/11-12/16CHARGER  7th GenerationDODGE

6000017 TRACK CONTROL ARM BUSH
denge kolu burcu, ön
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
39.5x12.2x37.7

FOR 600905168045329AB S1

08/02-08/09RAM 1500DODGE

6100007 TRACK CONTROL ARM BUSH
salıncak burcu, ön sağ-sol, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

CENTER
LOWER, FRONT

FOR 6009065/6;6009161/204670451AA
68298346AB S4
68298347AB S3

6100005 TRACK CONTROL ARM BUSH
salıncak burcu, ön sağ-sol, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES
LOWER, FRONT

FOR 6009161/268298346AB S2
68298347AB S1

6100006 TRACK CONTROL ARM BUSH
salıncak burcu, ön sağ-sol, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES
LOWER, FRONT

FOR 6009161/268298346AB S3
68298347AB S2

01/16-RAM 700DODGE

1409108 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:140910951769984 S2

1409109 WISHBONE
salıncak, ön sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:140910851769985 S2

2023-01   (BY APPLICATION) 15 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

01/16-FULLBACK (502, 503)FIAT

1409100 WISHBONE
salıncak, ön sol, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH, FRONT

Pair: 14091014010A017
4010A101

1409101 WISHBONE
salıncak, ön sağ, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH, FRONT

Pair: 14091004010A018
4010A102

08/09-STRADAFIAT

1409106 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:140910751769984

1409107 WISHBONE
salıncak, ön sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:140910651769985

1409108 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:140910951769984 S2

1409109 WISHBONE
salıncak, ön sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:140910851769985 S2

01/15-EDGE (CDQ)FORD

1509233 TRACK CONTROL ARM
denge kolu, arka, üst sol
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH, REAR
UPPER

Pair: 15092345282350
5309181
E1GC5K743AXB

1509234 TRACK CONTROL ARM
denge kolu, arka, üst sağ
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH, REAR
UPPER

Pair: 15092335282349
5309170
E1GC5K742AXB

2023-01   (BY APPLICATION) 16 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

08/04 - 08/07F-150 (USA) 11th GenerationFORD

1507100 AXIAL JOINT
rotmili, ön, iç
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

M16x1,5;M16x1,5;L=323 mm

For 2WD6L3Z3280A

10/07-F-150 (USA)FORD

1503018 BALL JOINT
rotil, ön
шаровая опора

Rótula de suspensión/carga

Rotule de suspension

BOTH SIDES
FRONT UPPER

FL3Z3084B P1
FL3Z3085B P1

01/15-F-150FORD

1503018 BALL JOINT
rotil, ön
шаровая опора

Rótula de suspensión/carga

Rotule de suspension

BOTH SIDES
FRONT UPPER

FL3Z3084B P1
FL3Z3085B P1

08/05-08/10FOCUS II  USAFORD

1507099 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14x1,5;M14x1,5;L=344 mm

Year only 2006-20085S4Z3280AA

08/18-FOCUS IV (HN)FORD

1507095 AXIAL JOINT
rotmili, ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES,FRONT
M16x1,5;M16x1,5;L:304 mm

2194056
JX6C3L519AA

10/18-FOCUS  IV (CGE)FORD

1507095 AXIAL JOINT
rotmili, ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES,FRONT
M16x1,5;M16x1,5;L:304 mm

2194056
JX6C3L519AA

2023-01   (BY APPLICATION) 17 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

09/15-GALAXYFORD

1509233 TRACK CONTROL ARM
denge kolu, arka, üst sol
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH, REAR
UPPER

Pair: 15092345282350
5309181
E1GC5K743AXB

1509234 TRACK CONTROL ARM
denge kolu, arka, üst sağ
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH, REAR
UPPER

Pair: 15092335282349
5309170
E1GC5K742AXB

08/14-MONDEO  VFORD

1500157 TRACK CONTROL ARM BUSH
denge kol burcu, arka sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR; BOTH SIDES
45x14,2x39,5

For 15081005288317 (P)

08/16-MUSTANG 6th GenerationFORD

1500199 TRACK CONTROL ARM BUSH
burç, arka, alt
сайлентблок рычага

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR

FOR 1509260FR3Z5K898B S1

1509260 TRACK CONTROL ARM
denge kolu, arka sağ-sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR
With performance pkg

FR3Z5K898B

06/06 -03/11RANGER IIFORD

1509258 WISHBONE
salıncak, ön sağ, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH
W/Out height pack;shaft length 331 mm

PAIR:15092592M343084CC
4 931 276
UH72 34 210 A

1509259 WISHBONE
salıncak, ön sol, üst
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH
W/Out height pack;shaft lengh 331 mm

PAIR:15092581 514 568
2M343091CC
UH72 34 260 A

2023-01   (BY APPLICATION) 18 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

04/11-RANGER III (TKE)FORD

1509179 WISHBONE
salıncak, ön sağ, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH,FRONT
UPPER

Pair: 15091801723681
1725696
5232166

1509180 WISHBONE
salıncak, ön sol, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH,FRONT
UPPER

Pair: 15091791731006
5232167
AB313091BD

01/15-S-MAX (CJ,WA6)FORD

1509233 TRACK CONTROL ARM
denge kolu, arka, üst sol
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH, REAR
UPPER

Pair: 15092345282350
5309181
E1GC5K743AXB

1509234 TRACK CONTROL ARM
denge kolu, arka, üst sağ
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH, REAR
UPPER

Pair: 15092335282349
5309170
E1GC5K742AXB

01/02 - 05/12THUNDERBIRDFORD

1503029 BALL JOINT
rotil, ön alt
шаровая опора

Rótula de suspensión/carga

Rotule de suspension

FRONT
Dia:48 mm

6W4Z3K185AA
K500085

12/12 -ACCORD IX (CU, CR)HONDA

3603039 BALL JOINT
rotil, ön, alt
шаровая опора, усиленная

Rótula de suspensión/carga

Rotule de suspension

FRONT LOWER

51220T2A305 S1

01/14-ACCORD XHONDA

3602075 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

FRONT,LH
M14x1,5

Pair: 360207653560T2AA01

2023-01   (BY APPLICATION) 19 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

3602076 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

FRONT,RH
M14x1,5

Pair: 360207553540T2AA01

02/01 - 09/05CIVIC VIIHONDA

3609127 TRACK CONTROL ARM
denge kolu, arka sağ-sol, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR
Year only 2001-2004

52390S5A981
52390S6MA00
52390S5AA01

01/16-PILOTHONDA

3609111 WISHBONE
salıncak, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 360911251360TZ5A01

3609112 WISHBONE
salıncak, ön, alt sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 360911151350TZ5A01

01/10 -08/15IX 35HYUNDAI

3700023 TRACK CONTROL ARM BUSH
burç, arka
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR

552502S100 S1
552502S110 S1

08/15-TUCSON (TL)HYUNDAI

3700023 TRACK CONTROL ARM BUSH
burç, arka
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR

552502S100 S1
552502S110 S1

10/08-EX 35INFINITY

4102134 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M12x1.25

PAIR:4102135D8520EG00C

2023-01   (BY APPLICATION) 20 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

4102135 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M12x1.25

PAIR:4102134D8640EG025

08/03-G35INFINITY

4102134 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M12x1.25

PAIR:4102135D8520EG00C

4102135 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M12x1.25

PAIR:4102134D8640EG025

08/10-09/12G37INFINITY

4102134 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M12x1.25

PAIR:4102135D8520EG00C

4102135 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M12x1.25

PAIR:4102134D8640EG025

08/14-JX 35INFINITY

4109122 WISHBONE
salıncak, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

Pair: 410912354501-3JA0A
54501-3JA0C
54501-3JA0D

4109123 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

Pair: 410912254500-3JA0A
54500-3JA0C
54500-3JA0D

04/14-Q 50INFINITY

4102134 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M12x1.25

PAIR:4102135D8520EG00C

2023-01   (BY APPLICATION) 21 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

4102135 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M12x1.25

PAIR:4102134D8640EG025

08/14-QX60INFINITY

4109122 WISHBONE
salıncak, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

Pair: 410912354501-3JA0A
54501-3JA0C
54501-3JA0D

4109123 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

Pair: 410912254500-3JA0A
54500-3JA0C
54500-3JA0D

10/13-Q 70 (Y51) 3.7INFINITY

4102134 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M12x1.25

PAIR:4102135D8520EG00C

4102135 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M12x1.25

PAIR:4102134D8640EG025

09/15-F-PACE (X761)JAGUAR

4805009 TRACK CONTROL ARM
rotilli kol, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 4805010HK833C255AD
LR090504
T4A1079

4805010 TRACK CONTROL ARM
rotilli kol, ön, alt sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 4805009HK833C254BA
LR090505
T4A1011

4805011 TRACK CONTROL ARM
rotilli kol, ön sağ-sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

BOTH SIDES
FRONT

HK833C256AD
HK833C256AE
LR113871

2023-01   (BY APPLICATION) 22 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

10/98 -12/08S-TYPE  (X200)JAGUAR

1503029 BALL JOINT
rotil, ön alt
шаровая опора

Rótula de suspensión/carga

Rotule de suspension

FRONT
Dia:48 mm

6W4Z3K185AA
K500085

05/15-XF  SERIES X260JAGUAR

4805007 TRACK CONTROL ARM
denge kolu, arka, üst sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
UPPER, REAR

Pair: 4805008T2H17175

4805008 TRACK CONTROL ARM
denge kolu, arka, üst sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
UPPER, REAR

Pair: 4805007T2H17173

03/15-XE (X760)JAGUAR

4805007 TRACK CONTROL ARM
denge kolu, arka, üst sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
UPPER, REAR

Pair: 4805008T2H17175

4805008 TRACK CONTROL ARM
denge kolu, arka, üst sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
UPPER, REAR

Pair: 4805007T2H17173

10/84 - 09/01CHEROKEE (XJ)JEEP

6101010 TIE ROD END
rotbaşı, ön, iç
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
11/16"18 LHT

Pair: 610100952005741
ES3095R

6101009 TIE ROD END
rotbaşı, ön, iç
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
11/16"18 RHT

Pair: 610101052005740
ES3095L

2023-01   (BY APPLICATION) 23 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

09/05 - 12/10COMMANDER XKJEEP

6107009 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES

52090488AD
68000400AB

6100008 TRACK CONTROL ARM BUSH
salıncak burcu, ön, sol-sağ, üst
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES; UPPER
46x12,2x51 mm

FOR 610900652090-206AF S1
52090206AG S1
52090-206AI S1

6100003 TRACK CONTROL ARM BUSH
burç
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES

52089980A S1
52089981A S1

6100004 TRACK CONTROL ARM BUSH
burç
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES

52089980A S2
52089981A S2

09/91 - 04/99GRAND CHEROKEE I (ZJ)JEEP

6101009 TIE ROD END
rotbaşı, ön, iç
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
11/16"18 RHT

Pair: 610101052005740
ES3095L

6101010 TIE ROD END
rotbaşı, ön, iç
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
11/16"18 LHT

Pair: 610100952005741
ES3095R

10/04 - 10/11GRAND CHEROKEE III (WH, WK)JEEP

6100008 TRACK CONTROL ARM BUSH
salıncak burcu, ön, sol-sağ, üst
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES; UPPER
46x12,2x51 mm

FOR 610900652090-206AF S1
52090206AG S1
52090-206AI S1

6109020 TRACK CONTROL ARM
denge kolu, arka üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

BOTH SIDES
UPPER

52089630AC
5290957AA
K52089630AC

6100003 TRACK CONTROL ARM BUSH
burç
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES

52089980A S1
52089981A S1

2023-01   (BY APPLICATION) 24 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

6100004 TRACK CONTROL ARM BUSH
burç
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES

52089980A S2
52089981A S2

01/01 -05/07LIBERTY  (KJ)JEEP

6107010 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES

52128517AA
52128517AE
EV800407

08/96 - 11/07WRANGLER II (TJ)JEEP

6101009 TIE ROD END
rotbaşı, ön, iç
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
11/16"18 RHT

Pair: 610101052005740
ES3095L

6101010 TIE ROD END
rotbaşı, ön, iç
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
11/16"18 LHT

Pair: 610100952005741
ES3095R

08/00 -02/05RIO I  (DC)KIA

4900006 TRACK CONTROL ARM BUSH
salıncak burcu, ön, sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES
39x16x38mm

0K30A-34-480C

07/10 -08/15SPORTAGE   (SL)KIA

3700023 TRACK CONTROL ARM BUSH
burç, arka
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR

552502S100 S1
552502S110 S1

08/04 -08/09DISCOVERY SERIES IIILAND ROVER

1709034 WISHBONE
salıncak, ön, üst sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
UPPER, FRONT

Pair: 1709035RBJ500231
RBJ500232

2023-01   (BY APPLICATION) 25 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

1709035 WISHBONE
salıncak, ön, üst sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
UPPER, FRONT

Pair: 1709034RBJ500221
RBJ500222

10/97 - 09/06FREELANDER ILAND ROVER

1709043 TRACK CONTROL ARM
denge kolu, arka sağ-sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

BOTH SIDES,REAR

RGD000090
RGD100700

03/17-RANGE ROVER VELAR (L560)LAND ROVER

4805009 TRACK CONTROL ARM
rotilli kol, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 4805010HK833C255AD
LR090504
T4A1079

4805010 TRACK CONTROL ARM
rotilli kol, ön, alt sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 4805009HK833C254BA
LR090505
T4A1011

4805011 TRACK CONTROL ARM
rotilli kol, ön sağ-sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

BOTH SIDES
FRONT

HK833C256AD
HK833C256AE
LR113871

08/03-09/06LSLINCOLN

1503029 BALL JOINT
rotil, ön alt
шаровая опора

Rótula de suspensión/carga

Rotule de suspension

FRONT
Dia:48 mm

6W4Z3K185AA
K500085

12/06 -08/15BT-50  (CD, UD)MAZDA

1509258 WISHBONE
salıncak, ön sağ, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH
W/Out height pack;shaft length 331 mm

PAIR:15092592M343084CC
4 931 276
UH72 34 210 A

1509259 WISHBONE
salıncak, ön sol, üst
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH
W/Out height pack;shaft lengh 331 mm

PAIR:15092581 514 568
2M343091CC
UH72 34 260 A

2023-01   (BY APPLICATION) 26 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

03/05 -MX-5 III (NC)MAZDA

3809048 WISHBONE
salıncak, ön, alt sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER, FRONT

Pair: 3809049NE5134350D

3809049 WISHBONE
salıncak, ön, alt sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER, FRONT

Pair: 3809048NE5134300D

04/15-MX-5 IV (ND)MAZDA

3802057 TIE ROD END
rotbaşı, ön
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

FRONT

N24332280

07/04 - 01/12A-SERIES (W 169)MERCEDES BENZ

1907042 AXIAL JOINT
rotmili, ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14x1,5;L=205,25 mm

Chassis no. from:J2068531693300803
1693300903
A1693300803

07/05 - 11/11B-SERIES (W 245)MERCEDES BENZ

1907042 AXIAL JOINT
rotmili, ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14x1,5;L=205,25 mm

Chassis no. from:J2068531693300803
1693300903
A1693300803

10/07 -11/13C-SERIES (W 204)MERCEDES BENZ

1905154 TRACK CONTROL ARM
rotilli kol, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
FRONT LOWER

PAIR:19051552043303011
A 204 330 30 11

1905155 TRACK CONTROL ARM
rotilli kol, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
FRONT LOWER

PAIR:19051542043302911
A 204 330 29 11

2023-01   (BY APPLICATION) 27 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

05/13 -S-SERIES (W222, V222, X222)MERCEDES BENZ

1909123 TRACK CONTROL ARM
denge kolu, arka sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LEFT,REAR
Aluminium

PAIR:19091242223501302

1909124 TRACK CONTROL ARM
denge kolu, arka sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RIGHT,REAR
Aluminium

PAIR:19091232223501402

02/11 -SLK (R 172)MERCEDES BENZ

1900169 TRACK CONTROL ARM BUSH
denge kol burcu, arka sağ-sol, üst
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR
36x12,1x38 mm

For 1909106/71723500106 S1
1723500206 S1

1900170 TRACK CONTROL ARM BUSH
denge kol burcu, arka sağ-sol, üst
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

REAR
36x12,1x40 mm

For 1909106/71723500106 S2
1723500206 S2

12/13-MINI  COUPER (F55,F56)MINI

1209133 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH
with bushing,long ball pin:48,2 mm

PAIR:120913431126850398 S2

1209134 WISHBONE
salıncak, ön sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH
with bushing,long ball pin:48,2 mm

120913331126850397 S2

01/15-L 200 TRITON (KJ, KK, KL)MITSUBISHI

1409100 WISHBONE
salıncak, ön sol, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH, FRONT

Pair: 14091014010A017
4010A101

1409101 WISHBONE
salıncak, ön sağ, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH, FRONT

Pair: 14091004010A018
4010A102

2023-01   (BY APPLICATION) 28 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

03/00 -LANCER Stufenheck (CS_A)MITSUBISHI

3900011 TRACK CONTROL ARM BUSH
denge kol burcu, arka, üst
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

LOWER,UPPER
36,2x12,4x50 mm

FOR 39090465105271AC

01/09-370 ROADSTER (Z34) 3,7NISSAN

4102134 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M12x1.25

PAIR:4102135D8520EG00C

4102135 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M12x1.25

PAIR:4102134D8640EG025

08/01 - 09/06ALTIMA (L31)NISSAN

4100057 TRACK CONTROL ARM BUSH
salıncak burcu, büyük
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

END
71.8x14.1x75 mm

For 4109066/7/8/9 ;4109092/3545011AT0B S1
54501A1A1A S1

08/13-ALTIMA  (L33)NISSAN

4100057 TRACK CONTROL ARM BUSH
salıncak burcu, büyük
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

END
71.8x14.1x75 mm

For 4109066/7/8/9 ;4109092/3545011AT0B S1
54501A1A1A S1

08/00-08/10ELGRAND (E51)NISSAN

4109124 WISHBONE
salıncak, sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH

Pair: 410912555501-1JA0A

4109125 WISHBONE
salıncak, sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH

Pair: 4109124555001JA0A

2023-01   (BY APPLICATION) 29 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

11/10-07/17LEAF (ZE0)NISSAN

4107075 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M12x1.25;M14x1.5;L=216 mm

485213SG1A
D85213RA1A

08/17-LEAF (ZE1)NISSAN

4107075 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M12x1.25;M14x1.5;L=216 mm

485213SG1A
D85213RA1A

11/07 -MURANO (Z 51)NISSAN

4100057 TRACK CONTROL ARM BUSH
salıncak burcu, büyük
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

END
71.8x14.1x75 mm

For 4109066/7/8/9 ;4109092/3545011AT0B S1
54501A1A1A S1

07/10-NV200NISSAN

4107075 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M12x1.25;M14x1.5;L=216 mm

485213SG1A
D85213RA1A

08/14-PATHFINDER  ( R52)NISSAN

4109122 WISHBONE
salıncak, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

Pair: 410912354501-3JA0A
54501-3JA0C
54501-3JA0D

4109123 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

Pair: 410912254500-3JA0A
54500-3JA0C
54500-3JA0D

2023-01   (BY APPLICATION) 30 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

08/10-QUEST  (R52)NISSAN

4109118 WISHBONE
salıncak, sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH

Pair: 4109119545011JA0A

4109119 WISHBONE
salıncak, sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH

Pair: 4109118545001JA0A

07/08 -08/17INSIGNIA A (G09)OPEL

2000050 TRACK CONTROL ARM BUSH
salıncak burcu, ön sağ-sol
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT
BOTH SIDES

For 2909101/222940356 S1
22940357 S1
423149 S1

01/15-KARL (C16)OPEL

5600028 TRACK CONTROL ARM BUSH
burç, ön
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES

95368367 S2
95368368 S2

5600029 TRACK CONTROL ARM BUSH
burç, ön
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES

95368367 S1
95368368 S3

01/07 -EXPERTPEUGEOT

1300032 TRACK CONTROL ARM BUSH
denge kol burcu, ön, sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES
58,3x16,2x59,8 mm

FOR 1309053/49809082680
SU001 A6491

1300033 TRACK CONTROL ARM BUSH
denge kol burcu, ön, sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES
70,3x19,3x59,7 mm

FOR 1309053/49816557980
SU001-A6515

2023-01   (BY APPLICATION) 31 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

04/16 -TRAVELLER Bus (V_)PEUGEOT

1300032 TRACK CONTROL ARM BUSH
denge kol burcu, ön, sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES
58,3x16,2x59,8 mm

FOR 1309053/49809082680
SU001 A6491

1300033 TRACK CONTROL ARM BUSH
denge kol burcu, ön, sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES
70,3x19,3x59,7 mm

FOR 1309053/49816557980
SU001-A6515

07/10-WINDRENAULT

2209096 WISHBONE
salıncak, sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH

Pair: 22090975450111367R

2209097 WISHBONE
salıncak, sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH

Pair: 22090965450006685R

08/12-MODEL STESLA

7109000 WISHBONE
salıncak, ön sağ, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH,FRONT

Pair: 7109001104396600A
600893000A
600893000B

7109001 WISHBONE
salıncak,ön sol, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH,FRONT

Pair: 7109000104396500A S2
600653200A
600653200B

7105001 TRACK CONTROL ARM
rotilli kol, ön, alt, arka
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT; REAR
LOWER

104895100A

7105002 TRACK CONTROL ARM
rotilli kol, ön, sağ, alt, ön
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT; RH
LOWER

PAIR: 7105003104157500A

7105003 TRACK CONTROL ARM
rotilli kol, ön, sol, alt, ön
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT; LH
LOWER

PAIR: 7105002104157000A

2023-01   (BY APPLICATION) 32 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

08/12 - 08/18MODEL XTESLA

7109002 WISHBONE
salıncak, ön sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
FRONT

Pair: 71090031027322

7109003 WISHBONE
salıncak, ön sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
FRONT

Pair: 71090021027327

7105000 TRACK CONTROL ARM
rotilli kol, arka alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

BOTH SIDES
LOWER, REAR

1027351

08/09-09/13COROLLA 140 USATOYOTA

4207115 AXIAL JOINT
rotmili, ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES

4551002150
4551002170

05/15 -HILUX VIII PICK-UP (N1)TOYOTA

4207090 AXIAL JOINT
rotmili, ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

FRONT
BOTH SIDES

455030K130

02/16-PROACE (MPY)TOYOTA

1300032 TRACK CONTROL ARM BUSH
denge kol burcu, ön, sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES
58,3x16,2x59,8 mm

FOR 1309053/49809082680
SU001 A6491

1300033 TRACK CONTROL ARM BUSH
denge kol burcu, ön, sol-sağ
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES
70,3x19,3x59,7 mm

FOR 1309053/49816557980
SU001-A6515

2023-01   (BY APPLICATION) 33 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

08/11-08/16SIENNA (USA)  XL30TOYOTA

4202150 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M12x1.25

PAIR:420215145460-09210

4202151 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M12x1.25

PAIR:420215045470-09130

01/15-YARIS  (IA)TOYOTA

4209210 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH
For Asian market

PAIR:42092114806809230
4806809240

4209211 WISHBONE
salıncak, ön sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH
For Asian market

PAIR:42092104806909230
4806909240

10/17-S90 II (234)VOLVO

3002023 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH, FRONT

Pair: 300202431658181

3002024 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH, FRONT

Pair: 300202331658182

10/17-V90 II (235,236)VOLVO

3002023 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH, FRONT

Pair: 300202431658181

3002024 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH, FRONT

Pair: 300202331658182

FLYER-2023-01

2023-01   (BY APPLICATION) 34 of 34
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM


